
AJMAL NATIONAL TALENT SEARCH (ANTS) EXAMINATION - 2013
CLASS : IX

Time : 2 Hours / a]Ì̂  f 2 H³Oôç Full Marks / ]ÇPö X¶‘ö» / å]ç»Oô X¶‘öÌ[ý f (25+25+25+25)=100
General Knowledge / açWýç»S pûçX / açWýç»Ì[ýS pûçX

1. The rate of interest on Savings Bank Account is stipulated by
å[ýeEõTö a‡ûÌ̂  FçTöç» aÇTö» c÷ç» ................... ×X$̂ ùÛç»S Eõã»* / å[ýãáøÌ[ý a‡ûÌ^ FçTöçÌ[ý aÇãVÌ[ý c÷çÌ[ý ×X$ˆùÛçÌ[ýS EõãÌ[ý ..............................*
(A) The Concerned Bank (B) RBI

×X×VÛrô å[ýeãEõ / ×X×VÛrô å[ýáø ×»Lç[ýï å[ýeEõ %Zõ +×‰øÌ̂ ç+ / ×Ì[ýLç\öÛ å[ýáø %[ý +×‰øÌ^ç
(C) Indian Banks Association (D) None of these

\öç»TöÝÌ̂  å[ýeEõ aeØšöç+ / \öçÌ[ýTöÝÌ^ å[ýáø aeØšöç AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂

2. If a ship moves from river water into sea water, it will :
AFX Lçc÷çL XVÝ» Y»ç açG»Tö YÒã¾` Eõ×»ã_, Lçc÷çLFX .......................* / ̂ ×V AEõ×Oô Lçc÷çL XVÝ åUãEõ a]ÇäVÐ ̂ çÌ̂ , Töã[ý Lçc÷çL×Oô ............................*
(A) sink completely (B) sink a little bit (C) rise a little higher (D) remain unaffected

a¶YÉSï \öçã[ý QÇö[ý ^ç[ý %çe×`Eõ \öçã[ý QÇö×[ý[ý %çe×`Eõ \öçã[ý \öç×c÷ =×Pö[ý AãEõ %¾ØšöçTö Uç×Eõ[ý
a¶YÉSï\öçã[ý QÇöã[ý ^çã[ý %çe×`Eõ\öçã[ý QÇöã[ý ^çã[ý %” =YãÌ[ý =Pöã[ý AEõ+\öçã[ý UçEõã[ý

3. Cannes Film Festival is held in
EgõçX $Jô_×$Jôy =da¾ .................... Tö %XÇ×œöTö c÷Ì̂ * / EgõçX »Jô_×¬Jôy =da[ý %XÇ×œöc÷ c÷Ì̂  ..................................*
(A) Switzerland (B) France (C) Italy (D) England

$JÇô+Lç»ã_‰ø / aÇ+LçÌ[ý_îçã³Qö ZÐõç³a / ZÐõçã³a +Oôç_Ý / +Oôç_ÝãTö +eã_‰ø / +eã_ã³Qö

4. The Headquarters of Oil and Natural Gas commission (ONGC) is at :
åTö_ %ç»Ó YÒçEÊõ×TöEõ åG$K÷ %çãÌ̂ çG» (ONGC) ]ÉFî Eõç ï̂îç_Ì̂  ...................... Tö %¾×ØšöTö*
åTö_ A[ýe YÒçEÊõ×TöEõ Gîça %çãÌ̂ çãGÌ[ý ]ÇFî Eõç ï̂ç_Ì̂  %[ý×ØšöTö .......................*
(A) Mumbai (B) Dehradun (C) Vadodara (D) Nazira

]Ç¶‘öç+ / ]Ç¶‘öç+ãÌ̂ åV»çVÇX / åVÌ[ýçVÇãX [ýã»çVç / [ýãÌ[ýçVçãTö Xç×L»ç / Xç×LÌ[ýçãTö

5. ................... does not have its bench in the Guwahati High Court.
............................. » å[ý‡û m¾çc÷çOôÝ =¬Jô XîçÌ̂ ç_Ì̂ Tö Xç+* / ................................ AÌ[ý å[ý‡û mÌ̂ çc÷çOôÝ =¬Jô XîçÌ̂ ç_ãÌ̂  åX+*
(A) Arunachal Pradesh (B) Mizoram (C) Meghalaya (D) Nagaland
 %»ÓSç$Jô_ YÒãV` / %Ì[ýÓSç»Jô_ YÒãV` ×]ãLç»ç] / ×]ãLçÌ[ýç] å]Hç_Ì̂ XçGçã_‰ø

6. Mahatma Gandhi first started his Satyagraha in India in ....................
]c÷ç±Áç GçµùÝãÌ̂  \öç»Tö» ................................ Tö YÒU] aTöîçGÐc÷ %ç»•ö Eõ×»×$K÷_* / ]c÷ç±Áç GçµùÝ \öçÌ[ýãTö YÒU] aTöîçGÐc÷ £Ì[ýÓ EõãÌ[ýX .................................*
(A) Ahmedabad (B) Bardoli (C) Champaran (D) Kheda

%çc÷ã]Vç[ýçV / %çc÷ã]Vç[ýçãV [ý»V×_ / [ýÌ[ýV×_ãTö $Jô¶Yç»S / »Jô¶YçÌ[ýãS åFQÍöç / åFQÍöçãTö
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7. RSVP in an invitation card means :
×X]Ü—öSÝ YyTö UEõç RSVP» %Uï éc÷ä$K÷ ............................* / AEõ×Oô ×X]Ü—öS Yäy RSVP UçEõç ]çãX ............................*
(A) Come in time (B) Please reply (C) One person only (D) None of these

a]Ì̂ Tö =Y×ØšöTö Uç×Eõ[ý %XÇGÐc÷ Eõ×» =wø» ×V[ý ]çy ALX [ýî×Nþ» [ýçã[ý AOôçC Xc÷Ì̂
a]Ì̂ ]Tö =Y×ØšöTö UçEõã[ýX VÌ̂ ç EõãÌ[ý =wøÌ[ý ×Vã[ýX £WýÇ]çy AEõLX [ýî×NþÌ[ý LXî AEõ×OôC XÌ̂

8. The journal 'Kesari' launched by Bal Gangadhar Tilak was in the language of :
[ýç_ GeGçWý» ×Tö_ãEõ =×_C¾ç "åEõ`»Ý' Y×ÅyEõç .............................. \öçbçTö YÒEõç×`Tö éc÷×$K÷_*
[ýç_ G†çWýÌ[ý ×Tö_ãEõÌ[ý "åEõ Ì̀[ýÝ' Y×ÅyEõç ...................... \öçbçÌ̂  YÒEõç×`Tö c÷Ì̂ *
(A) Marathi (B) Hindi (C) English (D) None of these

]ç»çPöÝ / ]çÌ[ýçPöÝ ×c÷³VÝ +e»çLÝ / +eÌ[ýçLÝ AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂

9. The state of India without railway line
å»_ YU XUEõç \öç»TöÝÌ̂  »çLîFX c÷'_ ......................* / \öçÌ[ýTöÝÌ̂  Ì[ýçLî å^FçãX åÌ[ý__ç+X åX+ ...........................*
(A) Jammu & Kashmir (B) Mizoram (C) Meghalaya (D) Nagaland
L¶ö‚Ç %ç»Ó Eõç`½Ý»/L¶ö‚Ç A[ýe Eõç`½ÝÌ[ý ×]ãLç»ç] / ×]ãLçÌ[ýç] å]Hç_Ì̂ XçGçã_‰ø / XçGçã_³Qö

10. Almond is the state tree of
....................... »çLî» LçTöÝÌ̂  G$K÷ éc÷ä$K÷ EõçPö-[ýçVç]* / ....................... Ì[ýçãLîÌ[ý LçTöÝÌ̂  Gç»K÷ EõçPö-[ýçVç]*
(A) Jammu & Kashmir (B) Himachal Pradesh (C) Uttarakhand (D) Meghalaya

L¶ö‚Ç %ç»Ó Eõç`½Ý» ×c÷]ç$Jô_ YÒãV` =wø»çF‰ø å]Hç_Ì̂
L¶ö‚Ç A[ýe Eõç`½ÝÌ[ý ×c÷]ç»Jô_ YÒãV` =wøÌ[ýçF³Qö å]Hç_Ì̂

11. The acid used in an automobile battery :
^çX-[ýçc÷X» å[ýOôç»ÝTö [ýî¾c÷ç» Eõ»ç A×$$K÷Qö ×[ýWý éc÷ä$K÷ .............................* / ^çX[ýçc÷ãXÌ[ý [ýîçOôçÌ[ýÝãTö [ýî[ýc÷ÖTö A×aQö ................................*
(A) Folic Acid (B) Sulphuric Acid (C) Phosphoric Acid (D) Hydrochloric Acid

Zõ×_Eõ A×$$K÷Qö $K÷ç_×Zõ=×»Eõ A×$$$$K÷Qö Zõ$K÷Zõ×»Eõ A×$$K÷Qö c÷ç+QÎö'zõ×»Eõ A×$$K÷Qö
Zõ×_Eõ A×aQö aç_×Zõ=×Ì[ýEõ A×aQö ZõaZõ×Ì[ýEõ A×aQö c÷ç+äQÎöçäzõç×Ì[ýEõ A×aQö

12. 'Raghupati Raghava Rajaram' was written by :
"»HÇY×Tö »çH[ý »çLç»ç]' \öLXäOôç» ×_FEõ .................................* / "Ì[ýHÇY×Tö Ì[ýçH[ý Ì[ýçLçÌ[ýç]' \öLX×OôÌ[ý Ì[ý»Jô×Ì̂ Töç ..............................*
(A) Mahatma Gandhi (B) Rabindranath Tagore

]c÷ç±Áç GçµùÝ / ]c÷ç±Áç GçµùÝ »[ýÝ³VÐXçU PöçEÇõ» / Ì[ý[ýÝ³VÐXçU PöçEÇõÌ[ý
(C) Aurobindo Ghose (D) Vishnu Digambar Paluskar

%»×[ý³V åHçb / %Ì[ý×[ý³V åHçb ×[ýbÇÕ ×VG¶‘ö» Y_Ç•õ» / ×[ýbÇÕ ×VG¶‘öÌ[ý Y_Ç•õÌ[ý

13. The first Indian to become a member of British Parliament :
åEõçXLX \öç»TöÝÌ̂  åYçX YÒU][ýç»» [ýçã[ý [ýÊ×Oô` aeaV» aVaî éc÷×$K÷_ ? / YÒU] \öçÌ[ýTöÝÌ̂  ×^×X [ýÊ×Oô` aeaãVÌ[ý aVaî ×»K÷ã_X f
(A) Surendranath Bannerjee (B) Dadabhai Naoroji

aÇã»³VÐ XçU [ýîçXçLÞ / aÇãÌ[ý³VÐ XçU [ýîçXçLÞ VçVç\öç+ åXì»LÝ / VçVç\öç+ XçCãÌ[ýç×L
(C) Satyendranath Tagore (D) Rash Behari Bose

aãTöî³VÐ XçU PöçEÇõ» / aãTöî³VÐ XçU PöçEÇõÌ[ý »ça×[ýc÷ç»Ý [ýaÇ / Ì[ýça×[ýc÷çÌ[ýÝ å[ýça
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14. Jahnu Baruah's film ................... bagged the best Assamese Film Award in 60th National Film Award.
Lçc÷ÔÇ [ý»Ó¾ç» ............................... å[ýç_$K÷×[ýãÌ̂  60 Tö] »çrÑôÝÌ̂  $Jô_×$Jôy [ýOôçTö æ Ò̀rô %a]ÝÌ̂ ç $K÷×[ý» aX½çX _ç\ö Eõã»*
Lçc÷ÔÇ [ýÌ[ýÓÌ̂ çÌ[ý ................................. »K÷×[ý 60 Tö] Ì[ýçrÑôÝÌ̂  »Jô_×»¬Jôy YÇÌ[ý•õçãÌ[ý æ Ò̀rô %a]ÝÌ̂ ç »K÷×[ýÌ[ý a¶ö‚çX _ç\ö EõãÌ[ý*
(A) Bandhon (B) Ashirwadar Rong (C) Mumbai Cutting (D) Har Pal

[ýçãµùçX %ç`Ý[ýïçV» »e / %ç`Ý[ýïçãVÌ[ý Ì[ýe ]Ç¶‘öç+ Eõç×Oôe c÷» Y_ / c÷Ì[ý Y_

15. The first International organisation to issue its own stamps :
×XL» QöçEõ-×OôEõOô YÒEõç` Eõ»ç YÒU] %çÜ™öLÛç×TöEõ aeØšöçäOôç éc÷ä$K÷ ........................................*
×XãLÌ[ý QöçEõ-×Oô×EõOô YÒEõç` EõÌ[ýç YÒU] %çÜ™öLÛç×TöEõ aeØšöç ....................................*
(A) UNESCO (B) League of Nations (C) United Nations (D) International Monetary Fund

+=ãX•õ' Lç×TöaeH »çrÑôaeH %çÜ™öLÛç×TöEõ ]ÇVÐç ×X×Wý
+=ãXaãEõç Lç×TöaeH Ì[ýçrÑôaeH %çÜ™öLÛç×TöEõ ]ÇVÐç ×X×Wý

16. The colour of the ring on the Olympic flag that represents Asia ...................
%×_×¶YEõ» YTöçEõçTö ............................ »Iø» [ýÊwøäOôçã¾ A×$K÷Ì̂ ç ]c÷çãV`Eõ [ýÇLçÌ̂ *
%×_×¶YãEõÌ[ý YTöçEõçÌ̂  ............................. Ì[ýeãÌ̂ Ì[ý [ýÊwø A× Ì̀̂ çãEõ aÉ×»JôTö EõãÌ[ý *
(A) Black (B) Red (C) Yellow (D) Green

Eõ_ç / Eõçã_ç »Iøç / _ç_ c÷ç_WýÝÌ̂ ç / c÷_ÇV åa=LÝÌ̂ ç / a[ýÇL

17. 100 years of .................. refinery was celebrated in 2005.
2005 $JôXTö ........................ å`çWýXçGç»» 100 [ý$K÷» YÉSï c÷Ì^* / 2005 aãX ........................ å`çWýXçGçãÌ[ýÌ[ý 100 [ý»K÷Ì[ý YÉSï c÷Ì^*
(A) Digboi of Assam (B) Barauni of Bihar    (C) Haldia of West Bengal (D) Panipath of Haryana

%a]» ×QöGê[ý ×[ýc÷ç»» [ýç»ç>XÝ Y×¸Jô] [ý†» c÷ç_×VÌ̂ ç c÷ç×»Ì̂ çXç» Yç×SYU
%çaçã]Ì[ý ×QöG[ýÌ̂ ×[ýc÷çãÌ[ýÌ[ý [ýçÌ[ýç=XÝ Y×¸Jô][ýã†Ì[ý c÷_×VÌ̂ ç c÷ç×Ì[ýÌ̂ çXçÌ[ý Yç×XYU

18. River ..................... and ......................... join each other at Devprayag to form River Ganga.
åV¾ YÒÌ̂ çGTö ............................ %ç»Ó ................................. XVÝ ×]×_Tö éc÷ G†ç XVÝ» aÊ×rô éc÷ä$K÷*
åV[ýYÒÌ̂ çãG ................................ A[ýe ................................. XVÝ ×]×_Tö c÷ãÌ̂  G†ç XVÝÌ[ý aÊ×rô c÷Ì̂ *
(A) Bhagirathi, Alakanda (B) Bhagirathi,Koshi

\öçGÝ»UÝ, %_EõçX³Vç / \öçGÝÌ[ýUÝ, %_EõçX³Vç \öçGÝ»UÝ, åEõç`Ý / \öçGÝÌ[ýUÝ, åEõç`Ý
(C) Koshi, Alakanada (D) Bhagirathi, Sankosh

åEõç`Ý, %_EõçX³Vç / åEõç`Ý, %_EõçX³Vç \öçGÝ»UÝ, åaçSãEõçb / \öçGÝÌ[ýUÝ, aXãEõç`

19. Lens is made up of ................ glass
............................ Eõç$Jô» Y»ç å_XË$K÷ éTöÌ̂ ç» Eõ»ç c÷Ì̂ * / å_³a ............................... GÀça åUãEõ éTöÌ̂ çÌ[ý EõÌ[ýç c÷Ì̂ *
(A) Pyrex (B) Flint (C) Ordinary (D) Cobalt

Yç+ã»j ×nõ³Oô açWýç»S Eõ'[ýç·Oô
Yç+ãÌ[ýj ×nõ³Oô açWýçÌ[ýS Eõ[ýç·Oô

20. Permissible noise level at Residential area during night time is .............. Decibel
%ç[ýç×aEõ %‡û_Tö »ç×Tö %XÇã]çVXÝÌ̂  ̀ ŒØ™ö» ....................... åQö×$K÷ã[ý_*
%ç[ýç×aEõ A_çEõçÌ̂  Ì[ýçãTöÌ[ý å[ý_çÌ̂  %XÇã]çVXÝÌ̂  ̀ ŒØ™öÌ[ý .............................. åQö×aã[ý_*
(A) 45 (B) 55 (C) 75 (D) 80
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21. Four persons M, N, O and P are playing cards, M is on the right of N and P is on the left of O. Then which of the
following are partners ?
$Jôç×»LX å_çEõ M.N, O %ç»Ó P åÌ^ Töç$JôYçTö åF×_ä$K÷* ̂ ×V M, N» åaçZõçã_ %ç»Ó P, O » [ýçCgZõçã_ c÷Ì^ åTöãXc÷ã_ Tö_» åEõçXLX AOôç
V_Tö %çä$K÷ ?
»JôçÌ[ýLX [ýî×Nþ M, N,O A[ýe P Töça åF_ä»K÷X* ̂ ×V M %çä»K÷X N AÌ[ý QöçX ×VãEõ A[ýe P %çä»K÷X O AÌ[ý [ýç]×VãEõ Töçc÷ã_ XÝä»JôÌ[ý EõçÌ[ýç AEõ+
Vã_ %çä»K÷X ?
(A) P and O (B) M and P (C) M and N (D) N and P

P %ç»Ó O / P A[ýe O M %ç»Ó P / M A[ýe P M %ç»Ó N / M A[ýe N N %ç»Ó P / N A[ýe P

22. How many meaningful English words can be formed with the letters PCYO using each letter only once in
each word ?
PCYO %çF» åEõ+Oôç AOôç ̀ ŒTö ]çy A[ýç» [ýî¾c÷ç» Eõ×» ×Eõ]çXOôç %UïYÉSï +e»çLÝ ̀ Œ GPöS Eõ×»[ý Yç×» ?
PCYO %lùÌ[ým×_ AEõ[ýçÌ[ý AEõ×Oô `ãŒ [ýî[ýc÷çÌ[ý EõãÌ[ý EõÌ̂ ×Oô %UïYÉSï +eÌ[ýçLÝ `Œ [ýçXçãXç ^çÌ̂  ?
(A) None  (B) One (C) Two (D) More than two

AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂ AOôç / AEõ×Oô VÇOôç / VÇ×Oô VÇOôçTöêEõ å[ý×$K÷ / VÇ×OôÌ[ý å[ý`Ý

23. Personal loan in the banks can be sanctioned to :
å[ýeEõ» [ýî×NþGTö @S ........................ ×VÌ̂ ç c÷Ì̂ * / [ýîçãáøÌ[ý [ýî×NþGTö @S ................................... åVCÌ̂ ç c÷Ì̂ *
(A) Salaried Persons (B) Pensioners (C) Foreign Nationals (D) NRI customers

V]ïc÷ç å\öçGÝ [ýî×Nþ aEõ_Eõ åY³aX å\öçGÝ aEõ_Eõ ×[ýãV`Ý XçG×»Eõ aEõ_Eõ YÒ[ýçaÝ \öç»TöÝÌ̂  GÐçc÷Eõ
å[ýTöXã\öçGÝ [ýî×NþãVÌ[ý åYX`Xã\öçGÝãVÌ[ý ×[ýãV`Ý XçG×Ì[ýEõãVÌ[ý %Xç[ýçaÝÌ̂  \öçÌ[ýTöÝÌ̂  GÐçc÷Eõ

Directions (Qs 24 and 25) : The questions are based upon the alphabetical series given below :
×XãVÛ̀ Xç f Tö_Tö ×VÌ̂ ç [ýSï]ç_ç» æ Ò̀SÝäOôç» CY»Tö ×\ö×wø Eõ×» YÒ̀ Â Xe 24 %ç»Ó 25 » =wø» ×VÌ̂ ç*

   XÝä»Jô åVCÌ̂ ç [ýSï]ç_ç æ Ò̀SÝÌ[ý ×\ö×wøãTö 24 C 25 Xe YÒä ẦÌ[ý =wøÌ[ý VçC*

M J L I T Q S R K U F H C B D E A V P O G N

24. What will come in place of question (?) mark in the following series ?
Tö_Tö ×VÌ̂ ç æ Ò̀SÝ» YÒ̀ Âã[ýçWýEõ ×$JôX» (?) Pöç+Tö ×Eõ [ý×c÷[ý ? / =YãÌ[ýÌ[ý [ýSï]ç_ç æ Ò̀SÝãEõ ×\ö×wø EõãÌ[ý (?) ØšöçãX a×PöEõ =wøÌ[ý [ýaçC*

N          P O          B D E          (?)
(A) U V R (B) S R K U (C) R K U F (D) Q S R K

25. If 'BIND' is coded as 'CLGB' and 'HELD' is coded as 'FDJB' based on the series given above, how will 'FORK'
be coded ?
^×V 'BIND'Eõ, 'CLGB', 'HELD' Eõ 'FDJB' ×_Fç c÷Ì̂  åTöãÜ™ö 'FORK'Eõ åEõãXêEõ ×_×F[ý Yç×» ?
^×V 'BIND'åEõ, 'CLGB', 'HELD' åEõ 'FDJB' ×_Fç c÷Ì̂  Töã[ý 'FORK'åEõ ×Eõ\öçã[ý ×_Fç ̂ çã[ý ?
(A) HGKU (B) UPKR (C) UGSR (D) UPSR
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General English

26. Pick out the incorrect one :
(A) We have a ten minute's break (B) we have ten minutes' break
(C) we have a ten-minute break. (D) we will take a ten-minute break.

Pick out the correct one in the following questions:
27. (A) Indians have dark skins. (B) The Indians have dark skins

(C) The Indians have dark skin (D) Indians have darken skin.

28. (A) all his expenditure is shown here. (B) all his expenditures is shown here.
(C) all his expenditures are shown here. (D) all the above are correct.

29. (A) If it rains  we shall not play. (B) if it will rain we shall not play.
(C) If it will rain we do not play. (D) If it is raining we are not playing.

Fill in the dotted space with appropriate forms of the verbs ;
30. If water ..................., it ................... to ice.

(A) Freezes, will turn (B) Froze, turns (C) Will freeze, will turn (D) Freezes, turns

Fill in the blank space with  the correct alternative :
31. None of us knew the way, ...................

(A) did we ? (B) didn't we ? (C) were we? (D) weren't we ?

32. The gentleman together with his wife and children ................... drowned.
(A) were (B) had (C) was (D) have been.

33. Be off ...................  I shall drive you out.
(A) and (B) for (C) or (D) lest

34. I do not know his name. I wish I ................... it.
(A) know (B) had known (C) should (D) knew

35. He behaves as if he ................... my boss
(A) is (B) was (C) were (D) may be

36. None of us knew the way, ...................
(A) didn't we ? (B) did any ? (C) did we ? (D) did any ?

37. By the time we reach there, Arun ....................
(A) will leave (B) will have left (C) will be leaving (D) would have left.
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The words in bold underline are numbered 1 and 2. Identify the parts of speech. (Q. 38 & 39)
38. " I will catch an early train so that I can reach home early."

                   1 2
(A) 1 is verb and 2 is noun (B) 1 is adjective and 2 is adverb.
(C) 1 is noun and 2 is adjective (D) 1 is adverb and 2 is adjective.

39. Do not talk so loud even though you have a loud voice.
                  1                       2

(A) 1 is adjective and 2  is adverb. (B) 1 is noun and  2 is verb
(C) 1 is verb and 2 is noun (D) 1 is adverb and 2 is adjective.

40. Choose the most appropriate response to the sentence given below :
I haven't done the sum.
(A) I also haven't (B) Nor I have (C) nor have I (D) Neither I have

41. "Our habits make us slaves"
If we change the above sentence in active voice to passive voice , it will read like :
(A) Slaves are made by our habits. (B) We are made habits by our slaves
(C) Slaves are made by our habits. (D) We are made slaves by our habits.

42. "The door should be kept closed."
If we change the given sentence in passive voice to active voice , it will read like :
(A) Keep the door closed (B) You should keep the door closed.
(C) Keep close  the door. (D) You  should close the door

43. Choose the alternative that best expresses the meaning of the given idiom/phrase.
"To have an axe to grind"
(A) a private end to serve (B) to fail to arouse interest
(C) to have no result (D) to work for both sides

Choose the one which best expresses the meaning of the given word.
44. Meticulous

(A) Correct (B) Clean (C) Methodical (D) Painstaking

Choose the word opposite in meaning to the given word.
45. Misery

(A) Sorry (B) Careless (C) Joy (D) Content

In the following question, one word is correctly spelt. Find the correctly spelt word.
46. (A) Recesion (B) Reccesion (C) Reccession (D) Recession
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47. Alma Mater  means :
(A) Mother's milk (B) Mother's concern for the child
(C) The learning that one receives from mother (D) Institution where one receives education

48. The sense of touch is called the ................... sense.
(A) tactile (B) olfactory (C) auditory (D) gustatory

49. 'Sailor' is related to 'Ship' in the same way as  'Lawyer' is related to ...................
(A) Legal (B) Law (C) Court (D) Judge

50. 'Good' is related to 'Bad' in the same way as 'Roof' is related to ...................
(A) ground (B) wall (C) terrace (D) floor

General Maths / açWýç»S G×STö / açWýç»Ì[ýS G×STö

51. Which of the following statements is false ?
Tö_» åEõçXäOôç =×Nþ %aTöî ? / XÝä»JôÌ[ý åEõçX =×Nþ %aTöî ?
(A) Every fraction is a rational number (B) Every rational number is a fraction.

YÒ×TöäOôç \öGÂçe`+ AOôç Y×»ã]Ì̂  aeFîç YÒ×TöäOôç Y×»ã]Ì̂  aeFîç+ AOôç \öGÂçe`
YÒ×Tö×Oô \öGÂçe`+ AEõ×Oô Y×Ì[ýã]Ì̂  aeFîç YÒ×Tö×Oô Y×Ì[ýã]Ì̂  aeFîç+ AEõ×Oô \öGÂçe`

(C) Every integer is a rational number (D) All the above
YÒ×TöäOôç %F‰ø aeFîç+ AOôç Y×»ã]Ì̂  aeFîç %çOôç+ãEõ+Oôç
YÒ×Tö×Oô %F‰ø aeFîç AEõ×Oô Y×Ì[ýã]Ì̂  aeFîç a[ýEõÌ̂ ×Oô

52. 24 16 12 ?(5) (8) (25) (10)=

(A) 24 (B) 48 (C) 52 (D) None of these
A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

53. The smallest positive number from the numbers below is ........................
Tö_Tö ×VÌ̂ ç aeFîç ×[ý_çEõ» %çOôç+TöêEõ a»Ó WýXç±ÁEõ aeFîçäOôç éc÷ä$K÷ ..............................*
XÝä»Jô åVCÌ̂ ç aeFîçm×_Ì[ý ]ãWýî a[ý»Jôç+ãTö æ»K÷çOô WýXç±ÁEõ aeFîç×Oô c÷_ .............................*
(A) 10 3 11− (B) 3 11 10− (C)

18 5 11−

(D) 51 10 26−

54. If 2 35 2n n−  is divisible by 17 then the remainder is ..................
^×V 2 35 2n n−  Eõ 17 å» ×[ý\öçLî c÷Ì̂ , åTöãÜ™ö \öçGã`b c÷'[ý ....................* / ̂ ×V 2 35 2n n−  åEõ 17 ¥çÌ[ýç ×[ý\öçLî c÷Ì̂ , Töã[ý \öçGã`b c÷ã[ý........................*
(A) 0 (B) 1 (C) -1 (D) 2
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55. 7 3( ) 5f x ax bx cx= + + −  where a,b,c are constants. If 

( 7) 7f − =

 then 

(7)f

equals to ..........................

7 3( ) 5f x ax bx cx= + + −

,^Tö a,b,c éc÷ä$K÷ WýÐÓ¾Eõ* ̂ ×V 

( 7) 7f − =

c÷Ì̂  åTöãÜ™ö 

(7)f

» a]çX ...........................*

7 3( ) 5f x ax bx cx= + + −

, å^FçãX a,b,c c÷_ WýÐÓ[ýEõ* ^×V 

( 7) 7f − =

 Töã[ý 

(7)f

 AÌ[ý a]çX ....................*.
(A) -17 (B) -7 (C) 14 (D) 21

56. If 

1 3x
x

+ =

then 

7
7

1x
x

+ =

 ........................
^×V 

1 3x
x

+ =

 c÷Ì̂ , åTöãÜ™ö 

7
7

1x
x

+ =

 .................
^×V 

1 3x
x

+ =

c÷Ì̂ , Töã[ý 

7
7

1x
x

+ =

 ........................
(A) 750 (B) 843 (C) 850 (D) None of these

A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

57. If m=

cab
a b−

, then b equals .................

^×V m=

cab
a b−

,c÷Ì̂ , åTöãÜ™ö b» a]çX ...............................*

^×V m=

cab
a b−

 c÷Ì^, Töã[ý b AÌ[ý a]çX ..................................

(A)

a
m ca+

(D)

m
m ca+

(C)

am
m ca+

(D) None of these
A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

58. The fourth quadrant is the set ................
å_F» $JôTÇöUï $JÇôEõ» aec÷×TöäOôç .........................*
å_ãFÌ[ý »JôTÇöUï YçãVÌ[ý aec÷×Tö×Oô ................................*
(A) {(x, y) | x > 0 and y < 0} (B) {(x, y) | x > 0 and y > 0}
(C) {(x, y) | x < 0 and y > 0} (D) {(x, y) | x < 0 and y < 0}

59. If a parallelogram with area P, a rectangle with area R and triangle with area T are all constructed on the same
base and all have the same altitude, then a false statement is ...................
AOôç ×X×•Ûrô \Éö×]» CY»Tö %eEõS Eõ»ç %ç»Ó AãEõ =~×Tö ×[ý×`rô AOôç aç]Ü™ö×»Eõ» Eõç×_ P AOôç %çÌ̂ Tö» Eõç×_ R %ç»Ó ×Åy\ÉöL» Eõç×_ T c÷'ã_,
%aTöî =×NþäOôç c÷'[ý .......................
AEõ×Oô ×X×•Ûrô \Éö×]Ì[ý =YãÌ[ý %eEõX EõÌ[ýç A[ýe AEõ+ =~×Tö ×[ý×`rô AEõ×Oô aç]Ü™ö×Ì[ýãEõÌ[ý Eõç×_ P, AEõ×Oô %çÌ̂ ãTöÌ[ý Eõç×_ R A[ýeý ×Åy\ÇöãLÌ[ý Eõç×_
T c÷ã_ %aTöî =×Nþ×Oô c÷ã[ý ...............................*

(A) P = 2T (B) T = 

1
2

R (C) R = R (D) P + T = 2R

60. In a triangle ABC, 

AB AC=

, ∠A=400, point O is within the triangle with 

∠

OBC=

∠

OCA. The number of
degrees in 

∠

BOC is .....................
ABC ×Åy\ÉöL» 

AB AC=

, ∠A=400 %ç»Ó O +Ì̂ ç» %Ü™öØšö ×[ý³VÇ* ̂ ×V 

∠

OBC=

∠

OCA c÷Ì̂ , åTöãÜ™ö 

∠

BOC » ×QöGÐÝ ]çY c÷[ý ........................

ABC ×Åy\ÇöãLÌ[ý 

AB AC=

, ∠A=400A[ýe O +c÷çÌ[ý %Ü™öØšö ×[ý³VÇ* ̂ ×V 

∠

OBC=

∠

OCA c÷Ì̂ , Töã[ý 

∠

BOC AÌ[ý ×QöGÐÝ ]çY c÷ã[ý...................*
(A) 110 (B) 35 (C) 140 (D) 70
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61. In the given figure, PQ||TM||RS. If 

∠

PQR = 700, 

∠

RTM=1400, then 

∠

QRT is equal to ....................
Tö_Tö ×VÌ̂ ç ×$JôyTö PQ||TM||RS, ̂ ×V 

∠

PQR = 700, 

∠

RTM=1400, åTöãÜ™ö, 

∠

QRT » ]çX ...........................*
XÝä»Jô åVCÌ̂ ç ×»Jôäy PQ||TM||RS, ̂ ×V 

∠

PQR = 700, 

∠

RTM=1400, Töã[ý 

∠

QRT AÌ[ý ]çX ...........................*

P Q

R S

T M)

)

700

1400

(A) 350 (B) 400 (C) 300 (D) None of these
A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

62. In the figure AB AC= , ∠BAD=300 and 

AE AD=

. The x equals ...............................
×$JôyTö 

AB AC=

, ∠BAD=300 %ç»Ó 

AE AD=

 c÷ã_ x » ]çX ......................*
×»Jôäy 

AB AC=

, ∠BAD=300 A[ýe 

AE AD=

 c÷ã_ x AÌ[ý ]çX ..........................*

(

(B C

E

3 0 0

X

300

(A) 7 1
2

0 (B) 100 (C) 150 (D) None of these
A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

63. In a parallelogram ABCD, if AB=2x+5, CD=Y+1, AD=Y+5 and BC=3x-4 then ratio of AB : BC is .....................
^×V ABCD aç]Ü™ö×»Eõ» AB=2x+5, CD=Y+1, AD=Y+5 %ç»Ó BC=3x-4 c÷Ì̂ , åTöãÜ™ö AB : BC » %XÇYçTö ...........................*

^×V ABCD aç]Ü™ö×Ì[ýãEõÌ[ý AB=2x+5, CD=Y+1, AD=Y+5 A[ýe BC=3x-4 c÷Ì̂  Töã[ý AB : BC AÌ[ý %XÇYçTö ..........................*

(A) 71 : 21 (B) 12 : 11 (C) 31 : 35 (D) None of these
A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

64. Which of the following statements is true ?
Tö_» åEõçXäOôç =×Nþ aTöî ?

XÝä»JôÌ[ý åEõçX =×Nþ aTöî ?

(A) The diagonals of a rectangle are perpendicular (B) The diagonals of a rhombus are equal
%çÌ̂ Töãlùy» EõSï VÇQöç_ Y»&» _¶‘ö »¶‘öç$Jô» EõSï VÇQöç_ a]çX

%çÌ̂ ãTöãlùäyÌ[ý EõSï VÇ×Oô YÌ[ý&Ì[ý _¶‘ö Ì[ý¶‘öçãaÌ[ý EõSï VÇ×Oô a]çX

(C) Every square is a rhombus (D) None of these
YÒ×TöäOôç [ýGï+ AOôç »¶‘öç$Jô / YÒ×Tö×Oô [ýGï+ AEõ×Oô Ì[ý¶‘öça A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂
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65. O is the center of the circle as shown in the diagram. The distance between P and Q is 4m. Then the measure
of 

∠

ROQ is ........................
×$JôyTö åVFÇC¾ç [ýÊwø» åEõ³VÐ O, P %ç»Ó Q ]çL» VÇ»±¼ö 4 ×]Oôç» c÷ã_ 

∠

ROQ» ]çY ..............................
×»Jôäy åVFçãXç [ýÊãwøÌ[ý åEõ³VÐ O, P A[ýe Q ]ãWýîÌ[ý VÉÌ[ý±¼ö 4 ×]. Töã[ý 

∠

ROQ = ?

R

350 Y0

O

2m

Q

P

(A) Y0 (B) 350 (C) 1050 (D) 700

66. Two poles, 30 m and 15 m high stand upright on a ground. If their feet are 36 m apart. The distance between
their tops is ......................
30 ×]. %ç»Ó 15 ×]. VÝH_ VÇOôç FÇ×Oô =_¶‘ö \öçã[ý YÇ×Tö åUç¾ç %çä$K÷* ̂ ×V FÇ×Oô VÇOôç» m×»» VÇ»±¼ö 36 ×] c÷Ì̂  åTöãÜ™ö FÇ×Oô VÇOôç» ̀ Ýbï ×[ý³VÇ» VÇ»±¼ö c÷[ý
........................................
30 ×]. C 15 ×]. _¶‘öç VÇ×Oô FÇ×Oô FçQÍöç\öçã[ý ]ç×OôãTö YÇãTö Ì[ýçFç c÷_* ^×V FÇ×Oô VÇ×OôÌ[ý åGçQÍöçÌ[ý VÉÌ[ý±¼ö 36 ×] c÷Ì̂  Töã[ý FÇ×Oô VÇ×OôÌ[ý `Ýbï ×[ý³VÇÌ[ý VÉÌ[ý±¼ö

c÷ã[ý
...............................
(A) 36 m (×].) (B) 39 m(×].) (C) 15 m (×].) (D) None of these

A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

67. The perimeter of a triangular field is 144 m and the ratio of the sides is 3:4:5. The area of the field is ..............
AFX ×Åy\ÉöLçEõç» YUç»» Y×»aÝ]ç 144 ×]Oôç» %ç»Ó [ýç§ åEõ+Oôç» %XÇYçTö 3:4:5 c÷ã_ YUç»FX» Eõç×_ ..................
AEõ×Oô ×Åy\ÇöLçEõçÌ[ý ]çäPöÌ[ý Y×Ì[ýaÝ]ç 144 ×]. A[ýe [ýç§m×_Ì[ý %XÇYçTö 3:4:5 c÷ã_ ]çäPöÌ[ý Eõç×_ c÷ã[ý ................
(A) 864 m2 (×])2 (B) 468 m2 (×])2 (C) 842 m2 (×])2 (D) None of these

A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

68. The largest volume of a cube that can be enclosed in a sphere of diameter 2m is ...................... m3.
2 ×]Oôç» [ýîça» åGç_Eõ AOôç» %Ü™ö×Xï×c÷Tö HXEõ AOôç» aã[ýïç¬Jô %çÌ̂ TöX ..................... HX ×]Oôç»*
2 ×]OôçÌ[ý [ýîçãaÌ[ý AEõ×Oô åGç_ãEõÌ[ý %Ü™ö×Xï×c÷Tö HSEõ AEõ×OôÌ[ý aã[ýïç¬Jô %çÌ̂ TöX ........................ HS ×]OôçÌ[ý
(A) 1 (B) 2 2 (C) π (D)

8
3 3

69. Three cylinders each of height 16m and radius of base 4m are placed on a plane in such a manner that each
cylender touches the other two. Then the volume of region enclosed between the three cylinders in m3 is .............
×Tö×XOôç $JÇôIøç %çEÊõ×Tö» [ýØ™Çö» YÒ×TöäOôç» =¬JôTöç 16 ×]. %ç»Ó \Éö×]» [ýîçaçWýï 4×].* ×Tö×XCOôçEõ AFX a]Tö_Tö AãX\öçã[ý »Fç éc÷ä$K÷ ̂ çãTö YÒ×TöäOôçã¾
%çXVÇOôçEõ & ï̀ Eõã»* åTöãÜ™ö $JÇôIøç %çEÊõ×Tö» [ýØ™Çö ×Tö×XOôç+ %çm×» UEõç ]çL» %e`äOôç» %çÌ̂ TöX HX×]Oôç» AEõEõTö c÷[ý ......................*
×TöX×Oô »JÉôIøç %çEÊõ×TöÌ[ý [ýØ™ÇöÌ[ý YÒ×Tö×OôÌ[ý =¬JôTöç 16 ×]. A[ýe \Éö×]Ì[ý [ýîçaçWýï 4 ×].* ×TöX×OôãEõ A]X\öçã[ý a]Töã_ Ì[ýçFç c÷_ ̂ çãTö AEõ×Oô %Xî VÇ×OôãEõ
& ï̀ EõãÌ[ý* Töã[ý »JÉôIøç %çEÊõ×TöÌ[ý [ýØ™Çö ×TöX×Oô å[ý×ºOôTö EõãÌ[ý Ì[ýçFç ]çMõFçãXÌ[ý %e`×OôÌ[ý %çÌ̂ TöX HS×]OôçÌ[ý AEõãEõ c÷ã[ý .......................*
(A)

98(2 3 )π−

(B)

98(4 3 )π−

(C)

128(2 3 )π−

(D) None of these
A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂
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70. If each entry of a data is increased by 5, then the arithmatic mean ...........................
^×V YÒ×TöäOôç TöUî» ]çX 5 éEõ [ýäRÍôç¾ç c÷Ì̂ , åTöãÜ™ö Gç×S×TöEõ ]çWýî ..........................
^×V YÒ×Tö×Oô TöãUîÌ[ý ]çX 5 EõãÌ[ý [ýçQÍöçãXç c÷Ì̂ , Töã[ý Gç×S×TöEõ ]çWýî .......................
(A) remains the same (B) increases by 5 (C) decreases by 5 (D) None of these

AãEõ Uç×Eõ[ý / AEõ+ UçEõã[ý 5 [ýç×RÍô[ý / 5 [ýçQÍöã[ý 5 Eõ×][ý / 5 Eõ]ã[ý A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

71. A card is drawn from a packet of 100 cards numbered 1 to 100. The probability of drawing a number which is a
square is .......................
1 » Y»ç 100 é_ãEõ X¶‘ö» UEõç 100 EõçQïö» Y»ç AFX EõçQïö [ýç$K÷×X Eõ×»ã_ YÉSï [ýGï aeFîç AOôç åYç¾ç» a•öç¾×SÌ̂ Töç ..............................
1 åUEõ 100 Y ï̂Ü™ö X¶‘öÌ[ý UçEõç 100 EõçãQïöÌ[ý AEõ×Oô YîçãEõOô åUãEõ AEõ×Oô EõçQïö å[ýä»K÷ åXCÌ̂ ç c÷ã_ AEõ×Oô YÉSï [ýGï aeFîç YçCÌ̂ çÌ[ý a•öç[ýXç ..............*

(A)

9
100

(B)

1
100

(C)

1
10

(D)

2
100

72. Simplified value of

4 2

2

11
2( )x

x
−+

 is ....................

4 2

2

11
2( )x

x
−+  » a»_çEÊõTö ]çX .........................................

4 2

2

11
2( )x
x
−+  AÌ[ý aÌ[ý_EÊõTö ]çX .........................

(A)
4 2

2

2 1
2

x x
x

+ − (B)

4

2

1
2

x
x
−

(C)

2

2

1
2

x
x
+

(D)

2

2

1
2 2
x

x
+

73. If 2 is a solution (root) of x3+hx+10=0, then h equals .....................
^×V x3+hx+10=0 » AOôç ]É_ 2 c÷Ì̂  åTöãÜ™ö h » ]çX ..............................
^×V x3+hx+10=0 AÌ[ý AEõ×Oô ]É_ 2 c÷Ì̂  Töã[ý h AÌ[ý ]çX .................................*
(A) 2 (B) 9 (C) -9 (D) -2

74. The value of 5 5 5 5  is ......................

5 5 5 5

 » ]çX .........................

5 5 5 5

AÌ[ý ]çX ..........................
(A) 0 (B) 2 (C) Can't be determined (D) None of these

×XSïÌ̂  Eõ×»[ý åXç¾ç×» A$OôçC Xc÷Ì̂
×XSïÌ̂  EõÌ[ýãTö Yç×Ì[ýXç AEõ×OôC XÌ̂

75. If 

3x a x b x c
b c c a a b
− − −+ + =
+ + +

, the x  is .................

^×V 

3x a x b x c
b c c a a b
− − −+ + =
+ + +

c÷Ì̂  åTöãÜ™ö x » ]çX .......................

^×V 

3x a x b x c
b c c a a b
− − −+ + =
+ + +

c÷Ì^ Töã[ý x  AÌ[ý ]çX ...........................
(A) 0 (B) 1 (C)  a+b+c (D) abc
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General Science / açWýç»S ×[ýpûçX / açWýç»Ì[ýS ×[ýpûçX

76. Which of the following can be zero when the particle is in motion for some time ?
YVçUïEõSç AOôç ×Eõ$KÇ÷a]Ì̂ » [ýçã[ý G×Tö`Ý_ %¾ØšöçTö Uç×Eõã_ Tö_» åEõçXäOôç ̀ ÉSî c÷'[ý Yçã» ?
AEõ×Oô YVçUïEõSç ×Eõ»KÇ÷a]ãÌ̂ Ì[ý LXî G×Tö`Ý_ %[ýØšöçÌ̂  UçEõã_ XÝä»JôÌ[ý åEõçX×Oô ̀ ÉSî c÷ã[ý ?
(A) Displacement (B) Distance covered (C) Speed (D) None of these

a»S %×TöyÔ] Eõ»ç VÇ»±¼ö VÐÓ×Tö A$OôçC Xc÷Ì̂
aÌ[ýS %×TöyÔ] EõÌ[ýç VÉÌ[ý±¼ö VÐÓ×Tö AEõ×»OôC XÌ̂

77. A man shot a bullet with a speed of 10 ms-1 which just penetrates a plank of wood. With what speed should he
shoot a bullet to pass through 10 similar planks ?
ALX ]çXÇãc÷ 10 ×]/ä$K÷. å[ýãGã» [ý³VÇEõ» m×_ AOôç ×XãlùY Eõ»çTö m×_äOôçã¾ ]çy AFX TöNþç å\öV Eõ×»[ýê_ alù] c÷Ì̂ * ]çXÇc÷LãX ×Eõ]çX
å[ýãGã» m×_äOôç ×XãlùY Eõ×»ã_ åTöãXEÇõ¾ç Vc÷FX TöNþç å\öV Eõ×»[ý Yç×»[ý ?
AEõLX [ýî×Nþ 10 ×]/ãa. å[ýãG [ý³VÇãEõÌ[ý AEõ×Oô m×_ ×XãlùY EõãÌ[ý £WýÇ AEõ×Oô EõçäPöÌ[ý TöNþç å\öV EõÌ[ýãTö alù] c÷Ì̂ * [ýî×Nþ×Oô EõTö ã[ýãG
m×_×OôãEõ ×XãlùY EõÌ[ýã_ ×PöEõ åa+Ì[ýEõ] V`×Oô TöNþç å\öV EõÌ[ýãTö YçÌ[ýã[ý ?
(A)

1100ms−

(B)

4 110 ms−

(C)

110 10ms−

(D) None of these
100 ×]/ä$K÷. (×]./ãa.) 104 ×]/ä$K÷. (×]./ãa.)

10 10

×]/ä$K÷. (×]./ãa.) A$OôçC Xc÷Ì̂
AEõ×»OôC XÌ̂

78. Ratio of force and acceleration measures ......................
[ý_ %ç»Ó ±¼ö»S» %XÇYçãTö+ éc÷ä$K÷ .......................... » åLçF*
[ý_ A[ýe ±¼öÌ[ýãSÌ[ý %XÇYçTö c÷_ ......................... AÌ[ý ]çY*
(A) velocity (B) impulse (C) momentum (D) mass

å[ýG HçTö[ý_ \ö»ã[ýG / \öÌ[ýã[ýG \ö» / \öÌ[ý

79. A cricket ball weighing 100g and moving with a speed of 20 ms-1 strikes a bat and remains in contact with it for
0.1 second. The average force exerted by the ball on the bat is ....................
100 GÐç] CLX» ×yÔãEõOô [ý_ AOôç+ 20 ×]/ä$K÷ å[ýãGã» å[ýOô AFXTö FÇ³Vç ]ç×»ä$K÷* ^×V & ï̀Eõç_ 0.1 æ$K÷ãEõ‰ø c÷Ì̂  åTöãÜ™ö [ý_äOôçã¾ å[ýOôFXTö
YÒãÌ̂ çG Eõ»ç GQÍö [ý_ éc÷ä$K÷ ........................
100 GÐç] CLãXÌ[ý AEõ×Oô ×yÔãEõOô [ý_ 20 ×]/ãa å[ýãG AEõ×Oô [ýîçäOô & ï̀ EõãÌ[ý* ̂ ×V & ï̀Eõç_ a]Ì̂  0.1 åaãEõ‰ø c÷Ì̂  Töã[ý [ý_×OôÌ[ý [ýîçäOô YÒãÌ̂ çG
EõÌ[ýç GQÍö [ý_ c÷_ ........................*
(A) 100 N (B) 10 N (C) 40 N (D) 1N

80. Which of the following is not correct ?
Tö_» åEõçXäOôç £ˆù Xc÷Ì̂ *
XÝä»JôÌ[ý åEõçX×Oô £ˆù XÌ̂  ?
(A) Pressure Nm-2 (B) Buoyancy N (C) G-Nm2 kg-1 (D) Dencity -kg m-3

$JôçY Nm-2 YÀç×¾Töç N HX±¼-kg m-3

81. The kinetic energy of a body is increased by 21%, What is the percentage increase in the linear momentum of
the body ?
AOôç [ýØ™Çö» G×Tö `×Nþ  21% [ýç×RÍôã_ [ýØ™ÇöäOôç» é»×FEõ \ö»ã[ýG ×Eõ]çX `Töçe` [ýç×RÍô[ý ?
AEõ×Oô [ýØ™ÇöÌ[ý G×Tö`×Nþ 21% [ýçQÍöã_ [ýØ™Çö×OôÌ[ý éÌ[ý×FEõ \öÌ[ýã[ýG EõTö `Töçe` [ýçQÍöã[ý ?
(A) 20% (B) 10% (C) 30% (D) 5%
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82. The largest satellite in the solar system is .............
åaì»LGTö» [ýÊc÷wø] =YGÐc÷äOôç ....................................* / åaìÌ[ýLGãTöÌ[ý [ýÊc÷wø] =YGÐc÷×Oô ............................*
(A) Moon (B) IO (C) Eros (D) Ganymede

$Jô³VÐ %ç+ãÌ̂ ç +»L / +Ì[ýL åG×X×]Qö

83. 1 kg of water at 600C is mixed with 2 Kg of water at 300C. The common temperature of the mixture will be .........
600C Tö UEõç 1 ×Eõ. GÐç] YçXÝ» _GTö 300CTö UEõç 2 ×Eõ. GÐç] YçXÝ ×]c÷×_ Eõ×»ã_ ×] Ò̀äOôç» =ê]c÷TöÝÌ̂ ç =bÕTöç c÷[ý ..................
600C åTö UçEõç 1 ×Eõ.GÐç. Lã_Ì[ý açãU 300C UçEõç 2 ×Eõ.GÐç L_ ×]`çã_ ×] Ò̀S×OôÌ[ý =bÕTöç c÷ã[ý .......................*
(A) 300C (B) 350C (C) 400C (D) None the these

AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂
84. Drinking soda is an example of a solution of .................

$Jô'Qöç YçXÝÌ̂  éc÷ä$K÷ ................................. VÐ¾» AOôç =Vçc÷»S* / YçXÝÌ̂  åaçQöç c÷_ ........................... VÐã[ýÌ[ý AEõ×Oô =Vçc÷Ì[ýS*
(A) gas in liquid (B) liquid in gas (C) gas in gas (D) solid in liquid

åG$K÷-Tö»_ Tö»_-ãG$K÷ åG$K÷-ãG$K÷ åGçOôç-Tö»_
Gîça-TöÌ[ý_ TöÌ[ý_-Gîça Gîça-Gîça Eõ×PöX-TöÌ[ý_

85. Sublimation of iodine, camphor and naphthaline is an example of .................
%çÌ̂ ×QöX, EõYÉï» %ç»Ó åXZËõãU×_X» =WýïYçTöX éc÷ä$K÷ ........................... » AOôç =Vçc÷»S*
%çÌ̂ ×QöX, EõYÉïÌ[ý C åXZõãU×_ãXÌ[ý =WýïYçTöX c÷_ ........................... AÌ[ý AEõ×Oô =Vçc÷Ì[ýS*
(A) chemical Change (B) energy change (C) physical change (D) irreversible change

»çaçÌ̂ ×XEõ Y×»[ýwïøX `×Nþ» Y×»[ýwïøX å\öì×TöEõ Y×»[ýwïøX AEõ]ÉFÝ ×[ý×yÔÌ̂ ç
Ì[ýçaçÌ̂ ×XEõ Y×Ì[ý[ýTöÛX `×NþÌ[ý Y×Ì[ý[ýTöÛX å\öì×TöEõ Y×Ì[ý[ýTöÛX AEõ]ÇFÝ ×[ý×yÔÌ̂ ç

86. Calculate the percentage of oxygen in Al
2
(SO

4
)
3

Al
2
(SO

4
)

3 
Tö %×jãLX» ̀ TöEõ»ç Y×»]çX ×XSïÌ̂  Eõ»ç*

Al
2
(SO

4
)

3 
åTö %×jãLãXÌ[ý ̀ TöEõÌ[ýç Y×Ì[ý]çS ×XSïÌ̂  EõÌ[ý*

(A) 55.14% (B) 34.2% (C) 56.14% (D) None the these
AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂

87. Which of the following is the formula of the compound nickel nitrate ?
Tö_» åEõçXäOôç ×XãEõ_ Xç+ä®ÏôOô» aeãEõTö ?
XÝä»JôÌ[ý åEõçX×Oô ×XãEõ_ Xç+ä®ÏôäOôÌ[ý aeãEõTö ?
(A) Ni

2
(NO

3
)
3

(B) Ni(NO
3
)
2

(C) Ni
2
NO

3
(D) NiNo

3

88. The thermal energy of a body is same as the ...................
[ýØ™Çö AOôç» TöçY `×Nþ .......................... » a]çX* / AEõ×Oô [ýØ™ÇöÌ[ý TöçY `×Nþ .................... AÌ[ý a]çX*
(A) K.E. of the body (B) P.E. of the body

[ýØ™ÇöäOôç» `×Nþ / [ýØ™Çö×OôÌ[ý `×Nþ [ýØ™ÇöäOôç» ×Øšö×Tö ̀ ×Nþ / [ýØ™Çö×OôÌ[ý ×Øšö×Tö ̀ ×Nþ
(C) mechanical energy of the body (D) K.E. of its molecules

[ýØ™ÇöäOôç» ̂ ç×Ü—öEõ ̀ ×Nþ / [ýØ™Çö×OôÌ[ý ̂ ç×Ü—öEõ ̀ ×Nþ +Ì̂ ç» %SÇ» G×Tö`×Nþ / +c÷çÌ[ý %SÇÌ[ý G×Tö`×Nþ

89. Isotopes differ in ..........................
a]Øšöç×XEõ å[ýç»» ............................... å[ýã_G c÷Ì̂ * / a]Øšöç×XEõ m×_Ì[ý ............................. YÊUEõ c÷Ì̂ *
(A) physical properties (B) chemical properties (C) number of protons (D) None the these

å\öì×TöEõ Wý]ï »çaçÌ̂ ×XEõ Wý]ï / Ì[ýçaçÌ̂ ×XEõ Wý]ï YÒOôS» aeFîç / æYÒçOôãSÌ[ý aeFîç AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂
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90. Which of the following statements is true ?
Tö_» åEõçXäOôç =×Nþ aTöî ? / XÝä»JôÌ[ý åEõçX =×Nþ×Oô aTöî ?
(A) F- has more electrons than Na+ (B) F- has less electrons than Na+

F- Tö +ã_Eõ®ÏôS» aeFîç Na+TöêEõ å[ý×$K÷ F- Tö +ã_Eõ®ÏôS» aeFîç Na+TöêEõ Eõ]
F- A +ã_Eõ®ÏôãXÌ[ý aeFîç Na+ åUãEõ å[ý`Ý F- A +ã_Eõ®ÏôãSÌ[ý aeFîç Na+ åUãEõ Eõ]

(C) Na+ and F- has equal electrons (D) None of these
Na+ %ç»Ó F- Tö +ã_Eõ®ÏôS» aeFîç a]çX AOôçC Xc÷Ì̂
Na+ C F- AÌ[ý +ã_Eõ®ÏôãXÌ[ý aeFîç a]çX AEõ×OôC XÌ̂

91. A prokaryotic cell within an eukaryotic cell is .................
aeãEõçb åEõ³VÐÝÌ̂  åEõçbTö UEõç AOôç YÒãEõçb åEõ³VÐÝÌ̂  åEõçb éc÷ä$K÷ ................* / aeãEõçb åEõ³VÐÝÌ̂  åEõçãb UçEõç AEõ×Oô YÒãEõçb åEõ³VÐÝÌ̂  åEõçb c÷_ ..................*
(A) nucleus (B) ribosome (C) chloroplast (D) All of these

åEõçb åEõ³VÐ »ç+[ý'L'] c÷×»dEõSç %çOôç+ãEõ+Oôç
åEõçb åEõ³VÐ Ì[ýç+[ýL] c÷×Ì[ýdEõSç a[ýEõÌ̂ ×Oô

92. Protoplasm is ..........................
YÒ'Oô'YÀçL] éc÷ä$K÷ .............................................* / YÒOôYÀçL] c÷_ .......................
(A) liquid (B) solid (C) colloidal (D) crystallo-colloidal

Tö»_ åGçOôç Eõ_Ì̂ QöÝÌ̂ VçXçEõç»-Eõ_Ì̂ QöÝÌ̂
TöÌ[ý_ Eõ×PöX Eõ_Ì̂ QöÝÌ̂ VçXçEõçÌ[ý-Eõ_QöÝÌ̂

93. The longest cell in the plant kingdom is ......................
=×àöV »çLîTö UEõç %çOôçTöêEõ VÝH_ÝÌ̂ ç åEõçbäOôç éc÷ä$K÷ .............................* / =×àöV ÌÌ[ýçãLî UçEõç a[ý»Jôç+ãTö VÝHï åEõçb×Oô c÷_ ..........................
(A) collenchyma (B) parenchyma (C) sclereid (D) sclerenchyma

Eõ'ã_XEõç+]ç åYã»SEõç+]ç VÊRÍô åEõçb æGÀã»SEõç+]ç %çgc÷
Eõã_XEõç+]ç åYãÌ[ýSEõç+]ç VÊRÍô åEõçb æGÀãÌ[ýSEõç+]ç %çg̀

94. The most common connective tissue is ................
YÒEÊõTö aeã^çLEõ Eõ_ç×[ýWý éc÷ä$K÷ .............................*
YÒEÊõTö aeã^çLEõ Eõ_ç×Oô c÷_ .............................*
(A) adipose tissue (B) reticular tissue (C) fibrous tissue (D) areolar tissue

å]$VEõ_ç Lç×_Eõç Eõ_ç TöÜ™Çö Eõ_ç Lç_Eõ Eõ_ç

95. Water vascular system is a distinctive feature of ....................
...................................... » Ø‘öEõÝÌ̂  é[ý×`rô éc÷ä$K÷ YçXÝã» YÉSï ae[ýc÷X TöÜ—ö*
................................ AÌ[ý Ø‘öEõÝÌ̂  é[ý×`rô c÷_ Lã_ YÉSï ae[ýc÷S TöÜ—ö*
(A) Annelida (B) Echinodermata (C) Chordata (D) Mollusca

[ý_ÝÌ̂  YÒçSÝ Eõ°OôEõ$Jô]Þ YÒçSÝ   å]»ÓV‰øÝ YÒçSÝ / å]Ì[ýÓV‰øÝ YÒçSÝ åEõç]_ãVc÷Ý YÒçSÝ

96. The most primitive vascular plants are .....................
ae[ýc÷X Eõ_ç UEõç YÒçêG×Töc÷ç×aEõ =×àöVäOôç éc÷ä$K÷ ...................................
ae[ýc÷XEõ_ç UçEõç YÒçêG×Töc÷ç×aEõ =×àöV×Oô c÷_ ..............................................
(A) cycas (B) ferns (C) moss (D) brown algae

$K÷ç+Eõç$Jô / aç+Eõçaô æRgôEõÝÌ̂ ç / æRgô×Eõ ]$Jô / é`[ýç_ ]ÇGç å`_ç+ / ]ÇGç é`[ýç_
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97. Uncontrolled cell division leads to ....................
%×SÌ̂ ×Ü—öTö åEõçb ×[ý\öçLX» Zõ_Tö ................................ c÷Ì̂ *
%×XÌ̂ ×Ü—öTö åEõçb ×[ý\öçLãXÌ[ý Zõã_ .............................. c÷Ì̂ *
(A) normal growth (B) cancer (C) whooping cough (D) tuberculosis

Ø‘öç\öç×¾Eõ [ýÊ×ˆù EõEïõOô å»çG / EõEïõOô åÌ[ýçG §×Ye Eõçc÷ / §×Ye Eõç×` ^©¿ç

98. Bacterium drives the ................... cycle.
å[ýãkô×»Ì̂ ç+ .............................. $JôyÔ $Jô_çÌ̂ *
å[ýãkôÌ[ýÝÌ̂ ç .................................. »JôyÔ »Jôç_çÌ̂ *
(A) carbon (B) nitrogen (C) oxygen (D) energy

Eõç[ýïX Xç+®ÏôãLX %×jãLX `×Nþ

99. The techniques of fish breeding, hatching and growing resulted in .................. revolution,
]ç$K÷» YÒLXX, åYçXç LX½ ×VÌ̂ ç %ç»Ó [ýÊ×ˆù» åEõì`ã_+ éc÷ä$K÷ ................... ×[ýYÀ¾*
]çä»K÷Ì[ý YÒLXX, åYçXç LX½ åVCÌ̂ ç A[ýe [ýÊ×ˆùÌ[ý åEõì`_ c÷_ ......................... ×[ýYÀ[ý*
(A) green (B) silver (C) blue (D) white

åa=L / a[ýÇL »ýÖYç_Ý / Ì[ýÖYç_Ý XÝ_ç å Ÿ̀Tö / açVç

100. Murrah, Surti and Mehsana are breeds of ................
]Ç»ç, $JÇô×TöÛ %ç»Ó å]c÷$JôçXç ........................... » ag$Jô*
]ÇÌ[ýç, aÇ×TöÛ C å]c÷açXç .......................... AÌ[ý YÒEõçÌ[ý*
(A) cows (B) buffaloes (C) goats (D) sheep

G»Ó / GÌ[ýÓ ]'c÷ / ]×c÷b $K÷çG_Ý / »K÷çG_ å\öQÍöç

XXXXXX


